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060C-02
SECTION -A
Analytical Ability
A >Sogos
Questions : 75 Marks ;: 75
Bdyee 175 oy et 75
( Data Sufficiency (Marks : 2¢}

sgro¥ ;Swséc:’s

Nete :

In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as T and II. You must decide whether the data given in the
statements are sufficient to answer the questions, Using (he data make an
appropriate choice from (1) to (4) as per the foliowing guidelines :

(a) Mark choice (1} if the statement [ alone is sufficient to answer the guestion.
{b) Mark choice (2} if the statement 11 alone is sufficient to answer the guestion.

(c) Mark choice (3) if both the statements I and I are sufficient to answer the
question but neither statement alone is sufficient.

{d) Mark choice (4) if both the statements T and I together are not sufficient to
answer the question and additional data is required.

£ 1008 20 58 2N B8 [EHSE uf (5, o3 (8o LT e iHibes fo

otk [HHSaren SEPOFOIT BRGRFOL. IR Beromey &HFIrAoW 2t
BiSeren (D% Vhrerard) SEOSE DomgIre wherofr Boe ¥d W
R)g*ﬁ)owvé). & :Jg*’eﬁsaéa Bod o’a:vgcsd,;-é Lom e &5&rhcD (1) ok (4)
L5% B0 wawd waran Jond Waked

@ Bhd Shrode aTy0M% @b I Sr &mggéno.né o marew
(1) m° OBoWod.

b) [P Sargrdo adyol® [Hdsco It ES IR AN éwgééoo.»’é By warew
2y ebgoiso&.

© [HHS Shreedo aTjosd @vvar 1, 1L Lok Horgkdon wotsd?
D 28 ¥rae dovgho SEDE D zaraw (3) M KeBood.

@) (Sh% Sdrewo 2o Bddarer L I Yoh Eear DHogRo =¥
wEEy Seroto eddShond e ezarex (4) e HBoUoR.
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L.

ANSWERS

What is the average mark of 10 students ?
58 20l Agdho Lty By, v
1 The average mark of 9 of them is 60.
wodhsSt D Hod Jiitn &y, 60. 4’
1l.  The marks obtained by one of them is 32,

sothS’ 2588 52 doedy e Horyow.

5 s i ] 6 ) :
If A is the mume 4 J then what is the value of x 7

oL

-

Lo 2 |— 3 6 £ o 3
A dmBg' T ‘wond, ¥ Gy Dok sod !
x4 &
L A is not a symmetric matrix. 2 z
A b THE S B8 s,

1. Ais asingular matrix.

A ol Fegrdo Lo\ BE.

What ts the volume of the conc ?
B0kl oEHErmo ok ? 3
. The height of the cone is 10 cm.
Bk o 10 Do,
II.  The area of its base is 126 sq. cnu.
Pl eer i gy FTogo 126 £5.230. 2.

What are the values of the real numbers a and b ?

i Hopges a ook b Gy, Desbe o ?
1. Zisarootofx®-b=0 Lf'
b =0 EEy o ¥ rou 2
. =
1, 2isartootofa™—-~2¥=

at —4f2¥=0 &8, w8 rwo 2

What are the values of the real numbers a and b ?

b dopges a ok b Sy Jenden D7 4
. a:b=7:3 b>0 =
. Za:b=6:11,a>0
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10.

Is the positive integer a divisible by 42 ?

2, S>8)¥ Jrgrodo u grRodwddoor 7

i « is not divisible by 7.
7 3 a erhofecid.

II.  aisdivisible by 21.
21 F a rhoduidoed.

Is (mgmx)2 = log,qv? ?

(logm'c)z = log,y? eHdoms ?

What is the area of the triangle formed by joining the points A, B and C ?
A, B Bobafy C DodkeHhod ol &rdrod (Gabeo Mng), Frego acd ?
I A=(2,5,B=(3.2)
II. A, Band C lie on a straight line.
A, B D00 C 2.8 3940 Fodran.

If x, y and n are positive integers, 18 x° + y? divisible by 2 ?

%y Boly n o é)E Yrorostoand, 2 B 3"+ v erhoduthdsor ?

1 =21
I v=1001
Isab=¢d ?

ab=cd wHdonr ?

i.  a%ofcis equal o b% of d.
¢ & amrgo, d S barad Dhrdo,

Il.  b% of cis equal to d% of a.
c &' bardo, a &° d el d Lhrdo.

4
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11. Is the positive integer v odd ?

v

P8 Yrgroso x 2% dogrg ?

1. siseven. [
x® 50 Loz =

g

¢

Q’-

1i. 4driseven.

4y B0 Jogg.

12.  What is the unit digit of the integer x 7
Srgro¥ Dowg ¥ Gt a8y 00 26 ?
I, Theunitdigitofx?is 1.
a @ngy 280 %0 1. ' &
. The unit digit of x* is 2.

2 Gy, a8l g0 2.
a %

13, Whatis the valueofa+~b+c+d?
a+b+c+d By DesdH Qo ?
1. 3a+5b+7c—6Hd=24 3
iI. a-h=-3¢c+10d=16

14,  What is the value of sin 8 ?

sin b oo woe !

L. tanQ +cotti=3 Lf‘

. {cosec B + cat B) (cosec B —cot By = |

15.  How long wilt 200 men fake to teap the harvest of a ficld of area 2.4 km? 7
24 USS% 8.3, Broge fo o ST doud gFohmas 200 fod Hde: Jod
sreo SnFolrd: ?
k 100 men will reap the harvesl of a field of area 1 km? in 6 weeks 7 . j
1 5656% 8.0, Froge do $Bo €0 Hoeils 100 ok D § arorg’ B
H, 200 women will reap the harvest of a field of arca 1.2 km? in 6 wecks.

1.2 5555 8.5 Bwero fo Bdo 6 dotid 200 L0d B 6 arong” EF G,
2 SR S[s o T

5
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16,

17.

18,

19.

20.

060C-02
Isxt<x?
* < x wHdome ?
1. x is a real number. 2_

x &8 TR0 domg.
II.  xisaninteger.
v
x 28 Yrgeodo.

Which is the largest number among x, y and z ?
xy Sbaf z o 26 K03 Rogg ?

1 12x = z2 5

I x:v1z=3:7:6

Isx=y7
x=y spoce ?
L x%of y is equal to y% of x.
y & xmdo, x & y werds Gardo., ¢ ?
I xis20% of z.
z &° 20 % 8 x Bérdo.
What is the slope of the straight line 7

@ BEH¥Tp Q) amew Jod ?
1. The straight line passes through the origin and the point (3, 2). L
© 35 T dwro Doy oAk (3, 2) Dok Hoae Fdod.

I, The straight line passes through (3, 3),
& 8¢ B (3, 3) o D08,

Is the set A equalto the set B 7
@@ A, DB B 8 Dbrddr 7

I AmB # A ‘i‘

1. n(A)=n(B)
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(1)

(a)

Problem Solving (Marks : 38)
BdaFrp IS

Sequence and Series (Marks : 25)

Note : In cach of the questions numbered 21 to 35 a sequence of numbers or letters that

24.

22

23.

24,

25.

26.

27,

28.

follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequence
without breaking the pattern.

$5: 21 ©08 35 B8 Boad Ko (98 BHSHEE alyd Songy M, efow md

28 (Shugiand Jubirdy drdpamyon. (58 P S%r o8 e alyd e
zo{);)sw D08 X0 wond aarendy SN 8, ol S JoEr8 Fotio Soow
Frdoord.

50,65, ..., 290, 325
(1) 75 (2) 95 (3 176 A 145

(25, 1), (23, 2), (20, 4), ..., (11, 16)
() (16,4) @ 166 & 16,8 @) (16.10)
115, 123, 142, 165, ..,

W 18 & 20 @ 173 @ 24

The value of the 13® terminthe series 1, [+2,14+2+3, 1 +2+3 +4, ...
L142,1+2+3,1+2+3+4, ... @3S 13 % 280 ao¥y, Jexd

(ay 97 Nl 3) 89 @ 85

AT AP
(1} X \py’\' (3) z @ U

DFIK, GILN, JLOQ, ...

(1) MORP (2) MPRO  &f MORT @) MROP
RO N T

(1) 12141 Wl 11211 @) 11011 @ 11121
625:5 1+ 1296

(y 9 2y 7 6 (4) 8

7
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29.

PALE:LEAP:: _____:SHOP
(1) SOAP (2} PSOH

Professor : Lecture : . Dogtor :

g : aéfo"gé‘én s Rehogehy

{1) Hospital
gég?ﬂo

V?ﬁ Treatment

W21~ POSH

(2) Disease
Wg@

{4) Patient

L8y &'

3. 6,15, 3577,

(1 14 ) 142 w143
32, CEGK. EGKM, . KMQS.

(1) GIKM MGKMQ (3) GLMQ
33 15,24, 35, 48,63, .99

(72 2r 80 3) %4
34, 1R, 50. 98, 338

{3y 121 {2) 169 {3} 189
35, 2,10.30, . 130

() 40 @ 50 VT 68
Note In questions 36 to 45 pick the vdd thing out.
bt I

6. 12 (2) 35

37,

(1) (14,3, 4) (2) (26,4.6)

36 %ead 45 HEH Ko [HHod’ B8 Sl otk

@) AR

(3) (37.5,7)

8
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{4) SAOP

@) 14

{4y GMQS

4) 90

w242

4y 70

(4) 15

0,8 9)
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38. (I} LUNG

GED0SS
39, (1 17
40, (1) 31

41. (1) River

42. ()

3.\

576

ILNQ

2

(2

(2)

(2

2)

(2)

(2}

(2

EYE
ézé;l

13

41

Turban

Soard

{b) Data Analysis (Marks : 10)

\k!( HEART

Lod

3y 11

X

51

5

Dam

u:&ég

5

672

3y CEHL

(3) K

(3) Helmet

B yeais

(4) EAR
D

w2
{4) 61

(4) Pond

Fod
4) 961
{4) NPSW
P
\M/ Veil

2ot (Soogr o Qdﬁéén)

Note : Study the following Pie diagram carefully and answer the questions 46 to 30.

40%

B

15%

: Salaries
: Canteen

mgoaOw >

. Medical expenses
: Insurance & Social Security
. Miscellaneous

The above diagram shows the heads of expenditure under various categories in percentages
in a budget of Rs. 2,880 lakhs of an industry.

9
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(b} Sgrod JFhes (10 Sr8y )
RESIVE SN B Berin g esésccﬁzﬁo T3, 46 Lot 50 L8% Ko ek e

2 D6%w a8 SORh Qg 2880 oo drarowe 23S S S8 ol 38

46.  How much money. in takhs of rupees, is earmarked towards the sularies for the employees 7
&30 derw Bodh Jud dunds, vie Srdrunes’, BeronotdRiot ?

\u( 1152 () 1252
2

{3 1100 (4 105

47, How much amount, in lakhs of rupees. is saved if miscellancous allocation is not utilised
and 10% of the canteen budget i over spent 7

285 pENUB Swraoli Sunds aldricdkonr, sogods 3 Saronulid dany
- [
0B IN% s&¥orr piby Hobdo 2BARE G, Jod ﬁ‘én&, i Sritobost o
ot . T
@o...,go& ?
(1 1972 w1872
{(3) 2736 (4) 207.6

48. Tt the insurance premiums during the year amount 10 15% of the insurence and sacial
security budget. then how much money, in lukhs of tupees, is left for speiding on social

security ¥/
E08 DH Lbak: FoE IEm Beravondt, DosdyEod® £08 S Bleabo

&
BPoz 15% sond, ool L= D,:fﬁ)& Foherls dud ;.‘.%ec.:u, e Sedrated®,
2 Sotnod ?
(1) 108 2 720

N~ b (4) 288

10
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49, 1f the total budget is Rs. 8640 lakhs instead of Rs. 2.880 lakhs, theo how much amaunt will
be increased on canteen budget, in takhs of rupecs ?
awdo 2gs Zerowody 2880 vie Srabof wiboso §,640 ofy drarale
son®, segodS 2gE |Bodd Jod dany, DEO trarohed® Bdifdod ?
(76 2y 1152

() 1296 AT 864
5{. From the total budget, il the canteen and insurance & social security heads are reduced by
5% and L0% respectively, then what saving could be achieved. in lakhs of rupees ?
Asdo 538 S° TgodS wdak: A0 L Dbk Feing BEm Sge (Bod JBET
5% WOk 10% S0%, dod ke, oo Sraraned’, sor BoHres ?
T 936 @1 288

3} 576 () 432

Note : Study the following table carefully and answer the questions 51 o 55
d%sg:  |Bod DEEL eridre e9edgoido Zo, 51 dod 55 XK Ko Fhed
shrorared mratod.

A Year | |

Qc&é‘:rﬁo _ - . )
e N | T g 095 | LD 1985 1990 1995
&g
X g€ | 50 40 1 2
— v 200 160 150 20 | 24 | 140

z 80 70 60 40 1 38 |

{ A L 50 40 20 25 _BE.
| B | 1s 10 20 30 s - 10|

This table shows the number of elected members from various parties in & State Aascmbly.
& 445, o8 Tg sP0BE" DL arfo ol SES Palgo Sopgiy Bayod,

S1.  What percentage of seats did party Y getin 19907
1990 &, &8 Y Jod Ao ool TusdbEol 7

(70 »df 64 (3) o8 4) 62

52.  What poercentage of growth did the party A gain in 1995 over the previous eleciion ¥
P ge oL g X
[Boss 3o SoB. 1995 & & A Joé wdo HB% 3roded

(1) 40 @ 42 N @) 6

i
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53.

54,

55,

(c)

Which of the two parties could join to form a government in 1995 if Y and Z arc opposed
1o cach other ?

Y Swbofe Z ev S80380 $g8080wE 0B, 1995 & [Hebeeely aovytn dubals
< Bodh &rfen Sub Hogy 7

(1) YandX (2} Zand A (3) ZandX MYandA

How many maore seats did the party A get over the party B in all the elections put
together ?

AD)E SO S0, G B $0B 1§ A I Jvres D HewE'od ?
0y 70 w2l 86 (3) 40 4) 65

In the vear 1975, what percentage of seats did the party B get with respect to party Y 7
1973 & éoéé‘jdoés Y% é%z)é ?;)Qé‘, B% é{}gé ?og) TEC o I
(1) 63 (2) 5.25 (3) 6 N A

Coding and Decoding Problems (Marks ; 10)
Directions for questions 56 to 65 @

The guestions 56 to 65 are to be answered using the coding and decoding of the letters in
the English Alphabet as given below :

The * letter is coded as {r + 1) letter if r is odd and as (r =1)'™ letter if r is even. In
decoding, the inverse process is followed.

56 oo 65 VS fe E.’)é;pé) QmeiHen

56 Lol 65 2% Ao [PHe®, nodd: vilive &0 eitive 3ol Loak
G-8°G0h D QD aONS XS GHEENOT, HErEIre [FTohE.

1- 2 Vowg wowd, r-H eEod (r+ 1) - S efdor £ Toird.
T- 20 Dogg wond, - H 9Zord (r~ 1) - ¥ wgsorr 56 Tord.
6530k &° 63 D% ég@ﬁ) FEord.

56, What is the code letter for T 7

TS§ 58 o ?

w7 s @ U
3)

: 4 R
12
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s

58

39.

64).

61,

62.

63.

Which letter is coded as | ?
o w¥Sin ) e 86 dabdados ?

() H 1
v

3) K 4 L

What is the code word for QUALITY ?

QUALITY & &8 %o o ?

(13 RVBKJIUX (2) RVBKIUZ

W27 RVBKISZ () RVBKIUZ
Which word is coded as FWOKBMS ?

3 %o FWOKBMS e ¥& Fovadod ?

(1) EXPLOIT (2) EXPLORE
(3) EXPLODE w4 EXPLANT
Which word is coded as CPNJMP ?

& %o CPNIMP e §°8 Sabe:dod ?

W DOMING (2) DOLINO
{3} DOMAIN (4) DOLMEN
What is the code word for HOMOGENEQUS 7
HOMOGENEOQUS & 5°58 $¢%o b ¢
(1) GPNPFMFPVT w2 GENPHFMFEPVT
(3) GPNPHFNFPVT (4 GPNPHFMFQVT
What is the code word for GREGORY ?

GREGORY 8§ §°8 $o 28 ?
(1} HQFHPSZ {2) HPFHPQZ

W& TIQFHPQZ (4) HQFHPQX
Which word is coded as OQPCIHZ ?

o »eio OQPCIHZ e §°8 SBotadod 7

(1) PROVERB (2) PRODUCT
(3) PRODUCE e PRODIGY



b 8

65,

(d)
66,

67.

68.

69.

060C-02

What is the code word for ENIGMA ?
ENIGMA 8 §°& ddc 06 ?

(1) EMJGNB Wi FMIHNB
() FMJHLB (4) FMHGNB

Which word is coded as INOPTF ?

2 %50 INOPTE e 86 Satwdod 7

(1) IMPURE (2) IMMUNE
(3} IMPORT A IMPOSE

Date, Time & Arrangement Problems (Marks : 10)

If a month in an year starts with Monday.. then the date of the fourth day after the second
Saturday in that month, will be

2% éo‘éé‘gﬁoé‘ 2.& Bo Smrdod Bdoond, v J0& Bo& Hiardc od s’z?ﬁ‘)
el 8% Slng, 88

{16 vl 1 @) 18 @ 19

1f 9 May 2008 was Friday, then what day was February 14™ of the same year 7
2008 3 9% 86 o wand, el HodE B0 HRRd 14D 38 wdlg G

@ Thursday  (2) Monday (3) Friday (4) Wednesday
e o Foardo B B0 tiario

The ages of a son and his tather were in the ratio 2 : 5 seventeen vears ago. If the present
age of the son is 35, then the present age of the tather in years, i$

17 Sogdyore (Sodh o8 B % foboly e8d dod o datimen 2 KL&S‘
G, [Bdo FHd Loy 35 ao?bé\moob.a Pnso So/d é:a’b:(»;, ‘eofaéamoé'”

(1) 66 2) 65 3) 64 WA 62

B is the brother of A, § is the sister of B. E is the brother of D. D is the daughter of A. Fis
the father of 8. Then the uncle of E is

A Ging, DG B. B ohig, 260 S D G FEHM E A G, S407D.
S S, So|® F. sy B Gy 89 B do@ 8 8 oo @i

L A W B @ F 4 D

14
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70.

71.

72

73,

74.

H5@6=6landB @ 10=164,then7 @9 =
5@ 6=61%00w8@10=164s058,7@9=

(1) 124 (2) 120 3y 32 MIBO

In a clock, the angle between the hours hand and minutes hand at 5 hour 10 minutes, is
o8 H3okrdost 510,102, © & fobe doe 8§, Mwaro fues 8 Bose aod §no

(1) 60° N @) 120° ) 9g°

The number of ways of arranging 4 boys and 3 girls in a row so that the row begins with a
boy and ends with a girl.,

H08 af wred& Adoow, 28 erHES soé&dﬁ;geagjwm, Des ereniids,
el e E¥els 28 Ho§s® o) T @EYEeo ?

(1) 360 (2) 480 (3) 720 \‘4{1440

Which will be the first leap year after 2096 ?
2096 Somgd STy Bl B Lodesys Ha ?
) 2100 e 2104 (3) 2102 @ 2108

If two circles of diameters 10 cm and 6 cm touch externally, then the distatice between
their centres is

6 0.2, Bat 10 Do.h. gy KON Dotk Syddwen zedrgorT dnyFoh
5o, 58 BoSime é:c,sg Erdo

(1) 16em @ 2cm @) 4em WA gem

The director came to the office to attend a meeting at 15 minutes past 12 and he came
25 minutes before his steno who in turn was late by 30 minutes to the meeting. At what
time was the meeting supposed to start ?

2 DErRTR8 Hal setardd of Yomred, Ho. 12-15 & sompoordd Homyd,
¥ DArAwo8 30 Shuerew wodgor HNS 08d ?85‘erfé>5 $08 uw BEEH
25 Jamarer ol o)k, u SrREe @ SOardE @Yoo sehed dob 7

(1) 1200 @ 125 L 1210 #) 1220

15



